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*giﬁfg TREOBHOEILADKRES TREDHBEBSSLADKRES TREOBBOSILADKRES TREDHFESILNIDOKRES
=] = P HVE Er U HVE Tl = = EHVE = DV = 5
Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
TS 1.00/ 000 ~ 7.74 99.28] #huist 000 ~ 7.74] 1.95 10.42 ZThLLSE 1.00] 500 ~ 1215 99.28| #hbist | 500 ~ 1215 1.95 10.42
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
ZThLS 1.00] 0.00 ~ 747 95.39] #hList 000 ~ 747] 1.99 10.64 Zh LS 1.00|] 5.00 ~ 10.63 95.39] ZhLlst | 500 ~ 10.63| 1.99 10.64
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
ZhLS 1.00/ 000 ~ 551 68.72| #h Lyt 000 ~ 551| 157 8.41 Zhus 1.00] 500 ~ 655 68.72| #hbList | 500 ~ 655 157 8.41
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lt 1.0010.00 ~ 585 73.26] zh L4t | 0.00 ~ 585 1.59 8.51 Lt 1.00] 500 ~ 7.06 73.26] zh st | 500 ~ 7.06] 1.59 8.51
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Lt 1.00] 0.00 ~ 6.98 88.56] zn Ll |0.00 ~ 6.98] 1.71 9.18 Lt 1.00] 500 ~ 872 88.56] zn Ly | 500 ~ 872 1.71 9.18
6 100kN/mM#%#BZ % 1.00/ 000 ~ 1.04 115.72| 3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1054 ~ 13.77 115.72|3m%#B% % -~ = = =
ZThLS 1.00] 1.04 ~ 883 100.00] #huist [000 ~ 8.83] 2.17 11.60 Zh LS 1.00] 500 ~ 1054 100.00| #hlust | 500 ~ 13.77] 2.17 11.60
. 100kN/mM#%# 8% % 1.00/ 0.00 ~ 0.01 100.09|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00/ 1151 ~ 1153 100.09(3m%i#B% % -~ = = =
Lot 1.00{ 0.01 ~ 7.79 100.00] Zh st |0.00 ~ 7.79] 2.00 10.69 Zh st 1.00f 500 ~ 11.51 100.00f Z1List | 500 ~ 1153 2.00 10.69
8 100kN/mM##BZ 5 -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00] 0.00 ~ 5.61 70.06] zh st | 000 ~ 561 222 11.88 Zhn st 1.00f 500 ~ 9.20 70.06| Zh st | 5.00 ~ 920 2.22 11.88
9 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
Zrn Lot 1.00{ 0.00 ~ 6.70 84.62| znLis |000 ~ 6.70] 1.81 9.66 st 1.00f 500 ~ 8.15 84.62| #znLis | 500 ~ 8.15( 1.81 9.66
10 100kN/mM##BZ % -l -~ = -|3mzEZB| - ~ = = -| 100kN/ %22 = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00{ 0.00 ~ 6.53 82.31| ZnList | 000 ~ 653] 1.77 9.48 Zh st 1.00f 500 ~ 7.78 8231 #nLis | 500 ~ 7.78| 1.77 9.48
11 100kN/mM##BZ 5 1.00{0.00 ~ 1.63 124.97|3m%EHB %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.73 ~ 17.03 124.97|3m%EB %% = ~ = = =
ZnLst 1.00] 1.63 ~ 942 100.00| ZhList |0.00 ~ 9.42| 2.27 12.17 Zhn st 1.00f 5.00 ~ 10.73 100.00f Z1list | 500 ~ 17.03| 2.27 12.17
12 100kN/mM##BZ % 1.00{0.00 ~ 1.24 118.82|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 11.94 ~ 18.22 118.82|3m%E# %% = ~ = = =
Zhn Lot 1.00] 1.24 ~ 9.03 100.00] Z1ldst | 0.00 ~ 9.03] 2.14 11.44 Zzh st 1.00f 500 ~ 11.94 100.00| Zh it | 5.00 ~ 1822 2.14 11.44
13 100kN/mM%#EZ % 1.00{0.00 ~ 091 113.61|3m%E#BZ % -~ = = —| 100kN/ %8z 5 1.00| 10.56 ~ 13.35 113.61|3m%E#B %% -~ = = =
Zn Lot 1.00 091 ~ 8.69 100.00] Z1ldst | 0.00 ~ 8.69] 2.15 11.49 Zh Lot 1.00f 5.00 ~ 10.56 100.00| Zh it | 500 ~ 13.35| 2.15 11.49
14 100kN/mM%#EZ % 1.00{0.00 ~ 1.17 117.67|3m%EHB %% -~ = = —| 100kN/ %8z 5 1.00| 11.15 ~ 14.87 117.67|3m%E#B %% -~ = = =
Zhn Lot 1.00)1.17 ~ 8.96 100.00| Zh1List |0.00 ~ 896] 2.37 12.70 Zh Lot 1.00f 500 ~ 11.15 100.00|] Zh st | 500 ~ 14.87| 237 12.70
15 100kN/mM##8 2% 1.00{ 0.00 ~ 0.98 114.76|3mZ 25 ol ~ - = —| 100kN/ Mm%z % 1.00{ 11.68 ~ 14.86 114.76|3m%xB 25 =l ~ - - -
Lt 1.00] 098 ~ 8.77 100.00] Z1i4t | 000 ~ 8.77| 244 13.06 Lt 1.00f 500 ~ 11.68 100.00f ZhList | 500 ~ 1486 244 13.06




